TEXT BOOK EXERCISE 12.3

Q. 1. Carry out the followmg lelSlonS
() 20x4 + 10x2
@) (- 35y% by (= 7y%)
(iii) 16a* by — 6a?
@) 7x%y%z2 + 21xyz
(v) 24p3¢3 + (- 8pSq?)
wi) (- 15x%y322) + 10x2yz2
ii) 8Pm3 + (- 1614m?)
(viii) (- 12x y) + 20xy%z ,
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(iit) We have :

9a%b? (3¢ - 24) 27ab (¢ - 8)

_9a’h* (3c - 24)
~ 27ab(c-8)

9’b” X3 (c~8)
= 27ab (¢~

(iv) We have : 4yz (22 + 6z — 16) + 2y (z + 8)
First factorise z2 + 6z — 16 :
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'Q. 4. Using factor meﬂw&;
following polynomial by a binomiz
@) (x2+6x+8)bycwzf
(i) (x* - x —42) by (x + 6)

(i) (p?-6p-27)by (P-9)
(iv) (7x% + 14x) by (x+2) 00
(v) (a®-7a+12) by (a -3 J
i) x4+ 3x2 - 10) by (!2

Solution. (i) First factorise &xz |
Therefore, * + 6x + 8 = x?+(4
-(x+4)(x+2)

~ Now, (x> + 6x +8) + (x+2)
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(if) First factorise (x2 — Xk

. Therefore, X%~ x =42
=24 (CD+O)x
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 48xyz (3x - 12) Gy - 30) + 72 (x-v4)(y 6) i" e







(i11) We have : '
15ab (16a* ~ 25) + 10ab (4a + 5)
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(iv) First factorise (x* — 5x
Therefore, x* — 5x3 — 24x2

= x*(x? — 5x — 24) |
=22+ (-8 +3)x-24]
= 2x-8) (x+3)
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= dx (x + 3}Ans 4

(v) We have : 39x3 (50x - 98) 26,\72 (5x + 7)
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Q. 7. Multiple Choice W b
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) The factorisation of 49 _ 36 o
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) 0 ~ B 36 1
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@) ¢ -p> 4 Ans. (a) 12.

\’ Emd ghe common factor of 14pg and | 2- Choose TrueIFaIse for the follq:ing
28p°g". ) . “questions : TEEESTREISISREEERET T
(a) 14 IR O ] e S s bt e s S ST
(c) 7pz3q Wiy 28p;q3 (i) Common factor of 2y and 22xy is 2y.

s (True/False)
o Ans. True |

g (i | (i) 32 = 32=1 {True/False)

«a)a+b~+2ab (b)a+b2 2ab Ny
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(a) 7a (@ + 2)
(c) 7a ' (d) 98a>.
. (a) Ta (@ + 2)
Factorise 6xy — 4y. ;
(@ 2x(By—-2) (b)) 6y x—4)
(c) 2y 3x-2) (d) 4y (6x—1).
(c) 2y 3x-2). e :
66pgr + Vg2 =t
(a) 6pgr (b) 6pqr2
(c) 6pg°r (d) 6gr*.
(a) 6pqr. |

(c) (@a+b)(@-b) (d) (a+by
(a) a* + b* — 2ab.

Factorise : 7a2 + 14a :
(b) 7a (a - 2)

Factorise 49x> — 36. |
(@) (Tx—6) (Ix— 6)(b) (7x+6) (7x + 6)
(¢) (7x+6) (Ix—6)(d) Noneofdxese

(iii) An irreducible factor is a factor which

“cannot be expressgd further as a product
of factors. (Tmeﬁ‘ake)
Ans. True.

(iv) (& - b2 = (a + b) (a + b) (True/False)
~ Ans. False.

W) @GP+ =2y =+ 1L
Ans. True.

3. F||| in the blanks :

(i) Common factor of Gd:c .’?Aab2 1

--------------------

(True/False)

-

Ans. 6ab. ,.
(i) Factors of 6xy - - Ay A e i
Ans. 2y(3x -2) s i
(ei1) 992 = ... ik
~Ans. (100 + 1) (100 = W
(iv) 28x4 56x = s
i
Ans' "i"' , !?4 t,{

) (m-zsw_ =

(c) (7x + 6) (1x = 6).
Ihecommonfacwtof6abc 2,4ab2 12a*b
s
(a) 6abc (h} Gﬂh

(c) 24abc (d) Z,abc

(b) 6ab.

| Aps. 2x-35.




